REVERSIBLE TABLE TOP

1 INCH PARTICLE BOARD WITH MELAMINE BOTH SIDES, OAK / WALNUT

ITEMNO. DESCRIPTION DIMENSIONS CASE  INNER

91111 ROUND 24”DIA 1 1

91112 ROUND 30°DIA 1 1

91113 ROUND 36”DIA 1 1

91116 ROUND 48” DIA 1 1

91121 SQUARE 24" X 247 1 1

91132 SQUARE 30" X 30 1 1

91143 SQUARE 36" X 36 1 1

91121S  SQUARE, SAMPLE ONLY 47X 4 2 1

91122 RECTANGULAR 24” X 30 1 1

91124  RECTANGULAR 24" X 42" 1 1

91126 RECTANGULAR 24" X 48” 1 1

91134  RECTANGULAR 30" X 42 1 1

91135  RECTANGULAR 30" X 45 1 1

91136 RECTANGULAR 30" X 48" 1 1

91138 RECTANGULAR 30" X 72 1 1

1 INCH PARTICLE BOARD WITH MELAMINE BOTH SIDES, MAHOGANY / BLACK

ITEMNO. DESCRIPTION DIMENSIONS CASE  INNER

91211 ROUND 24”DIA 1 1

91212 ROUND 30”DIA 1 1

91213 ROUND 36”DIA 1 1

91216 ROUND 48”DIA 1 1

91217 ROUND 607DIA 1 1 o
91221 SQUARE 24" X 24” 1 1

91232  SQUARE 30” X 30” 1 1 u
91243 SQUARE 36” X 36 1 1

912215 SQUARE, SAMPLE ONLY X4 2 1 m
91222 RECTANGULAR 24” X 30" 1 1

91223 RECTANGULAR 24” X 36” 1 1

91224  RECTANGULAR 24" X 42" 1 1

91225  RECTANGULAR 24” X 45 1 1

91234  RECTANGULAR 30" X 42 1 1

91235  RECTANGULAR 30" X 45” 1 1 4
91236 RECTANGULAR 30" X 48” 1 1 -
91237  RECTANGULAR 30” X 60” 1 1 o
TABLE BASE KITS (CAST IRON WITH BLACK WRINKLE FINISH) , z
INCLUDES; SPIDER, COLUMN, ROD & NUT, BASE, AND LEVELING GUIDES k |

3-PIECE  2-PIECE

STECE  ZRIECE @ DESCRIPTION DIMENSIONS | >
9018 9818 ROUNDKIT ~ STANDARD  187DIA - | r
90185 98185 ROUNDKIT  BARHEIGHT 18°DIA = Round

9022 9822 ROUNDKIT ~ STANDARD  22°DIA - Kit

90225 98225 ROUNDKIT ~ BARHEIGHT  22"DIA

9030 9830 ROUNDKIT ~ STANDARD 30" ROUND -

90305 98305 ROUNDKIT  BARHEIGHT 30" DIA .

9601 9801 END KIT STANDARD  22°L k |

96015 98015 END KIT BARHEIGHT  22°L |

9602 9802 X-BASEKIT ~ STANDARD 24" X 30” '

96025 98025 X-BASEKIT  BARHEIGHT 24" X 30”

9622 9824 X-BASEKIT ~ STANDARD 22" X 22” .. X'Eﬁse

96225 98245 X-BASEKIT  BARHEIGHT 22" X 22"

9630 9834 X-BASEKIT ~ STANDARD 30" X 30

96305 98345 X-BASEKIT ~ BARHEIGHT 30" X 30 k ,

9633 9833 X-BASEKIT  STANDARD 33" X 33" ,

96335 98335 X-BASEKIT ~ BARHEIGHT 33" X33 , , 9614, 9615 6T N |
TABLE BASE COMPONENTS, CAST IRON WITH BLACK WRINKLE FINISH |

ITEMNO. DESCRIPTION CASE  INNER - |

9615  CAST IRON SPIDER, 13"DIA 10 1 =

9614 CAST IRON SPIDER, 15”DIA 10 1 T 90189,90229, 90309

90189  TABLE BASE ONLY, ROUND, 18”DIA 5 1 _

90229  TABLE BASE ONLY, ROUND, 22"DIA 2 1 Spider welded to Column

90309  TABLE BASE ONLY, ROUND, 30”DIA 1 1

96101  COLUMN, 26-3/4” STEEL ROD & NUT, 25”L 10 1

96131 4’ DIA COLUMN, 26-3/4” STEEL ROD & NUT, 25"L 8 1

96141 4" DIA COLUMN, 40-1/8” STEEL ROD & NUT, 38”L 8 1 96100

96121 COLUMN, 40-1/8” STEEL ROD & NUT, 38"L 10 1 \

96100  STANDARD HEIGHT COLUMN/SPIDER ONLY 8 2-PIECE KIT

96120  BAR HEIGHT COLUMN/SPIDER ONLY 8 ‘ COMPLETE %120

@@ T: 1-800-456-2055 | F:1-800-456-2762 | www.johnsonrose.com




